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Class – XII 
fo"k;&n'kZu'kkL=@Sub- PHILOSOPHY 

fo"k; dksM&325@Sub. Code-325 

I.  oLrqfu"B iz'u@Objective Type Questions. 

 

 1. oSKkfud i)fr dk vk/kkj D;k gS \ 

  (a) vkRe (b) jgL;e; vuqHko (c) izR;{k vuqHko (d) buesa ls dksbZ ugha 
 
  What is the basis of Scientific Method ?   

  (a) Self-idea    (b) Mystic experience  
  (c) Experience based on perception (d) None of them 
 
 2. oSKkfud fof/k dk y{; gS  

  (a) oLrqfu"B Kku izkIr djuk  (b) vkRefu"B Kku izkIr djuk  

  (c) dsoy xf.kr dk Kku izkIr djuk (d) buesa ls dksbZ ugha 
 
  The purpose of Scientific Method is to  
  (a) Obtain Objective Knowledge 
  (b) Obtain Subjective Knowledge 
  (c) Obtain only Mathematical Knowledge  

  (d) None of them 
 
 3. vkxeu dk vk/kkj gS 

  (a) iz;ksx    (b) fujh{k.k  

  (c) iz;ksx vkSj fujh{k.k   (d) buesa ls dksbZ ugha 
 
  The real basis of Induction is 
  (a) Experiment    (b) Observation 
  (c) Experiment and Observation (d) None of these 
 
 4. Þfujh{k.k ,oa iz;ksx esa ek=k dk Hksn gksrk gSÞ dFku 

  (a) lR;     (b) vlR;  

  (c) lR; vkSj vlR;   (d) buesa ls dksbZ ugha 
 
  "The difference between Observation and experiment is of quantity" is   

  (a) True    (b) False 
  (c) True and False   (d) None of these 
 
 5. izkDdYiuk oSKkfud [kkst esa lgk;d gksrk gS  

  (a) gk¡     (b) uk  

  (c) dHkh gk¡] dHkh uk   (d) buesa ls dksbZ ugha 
 
  Hypothesis is useful for Scientific Research   

  (a) Yes     (b) No 
  (c) Sometime Yes, Sometime No (d) None of these 
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 6. izkDdYiuk dk lBhd izek.k gS 

  (a) lR;kiu (b) fujh{k.k (c) iz;ksx (d) vuqeku 
 
  The Crucial proof of Hypothesis is   

  (a) Verification (b) Observation (c) Experiment  (d) None of these 
 

 7- Þtgk¡&tgk¡ /kqvk¡ gS] ogk¡&ogk¡ vkx gS]ß] mnkgj.k gS 

  (a) vkdkfjd lR;rk dk   (b) okLrfod lR;rk  

  (c) vkdfjd vkSj okLrfod lR;rk dk (d) buesa ls dksbZ ugha 
 
  "Where here is flame, there is fire", is an example of    

  (a) Formal Truth   (b) Material Truth 
  (c) Fromal - Material both  (d) None of these 
 

 8- ÞlHkh phrk [krjukd gksrs gSaß] mnkgj.k gS 

  (a) okLrfod lR;rk   (b) vkdkfjd lR;rk dk  

  (c) vkdfjd vkSj okLrfod lR;rk dk (d) buesa ls dksbZ ugha 
 
  "All Panthers are dangerous" is an example of    

  (a) Material Truth   (b) Formal Truth  

  (c) Fromal - Material both  (d) None of these    

 

 9- ÞioZr ij /kqvk¡ gSß] izfrKfIr esa ÞioZrß 

  (a) i{k gS  (b) lk/; gS  (c) gsrq gS (d) fu"d"kZ 
 
  "Hill is smoky". In this proposition, 'Hill' is   

  (a) Paksha    (b) Sadhya 
  (c) Hetu    (d) Conclusion 
 
 10. Þmieku Kkr ds vk/kkj ij vKkr dk Kku gSß] dFku 

  (a) gk¡   (b) uk   (c) dHkh gk¡] dHkh uk (d) buesa ls dksbZ ugha 
 
  "Upman is a knowledge of known to unknown", statement is    

  (a) True    (b) False 
  (c) True, False both   (d) None of these 
 
 11. U;k; n'kZu ds laLFkkid gS 

  (a) vkp;Z xkSre    (b) vkpk;Z 'kadj   

  (c) dfiy    (d) iratfy 
 
  The founder of Nyaya Philosophy is   

  (a) Acharya Gautam   (b) Acharya Shankar 
  (c) Kapil    (d) Patanjali 
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 12. tSu n'kZu ds laLFkkid gSa 

  (a) xkSre cq)     (b) pkokZd   

  (c) dfiy    (d) rhFkkZadj egkohj 
 
  The founder of Jain Philosophy is    

  (a) Gautam Buddha   (b) Charvak 
  (c) Kapil    (d) Tirthankar Mahavir 
 
 13. buesa ls izkjafHkd dkSu gS \ 

  (a) fuxeu     (b) vkxeu   

  (c) fuxeu vkSj vkxeu   (d) buesa ls dksbZ ugha 
 
  Which is initial between these 
  (a) Deduction    (b) Induction 
  (c) Deduction - Induction  (d) None of these 
 
 14. lkekU; ,d leizR;; gS \ 

  (a) U;k;&oSf'k"kd dk    (b) pkokZd dk    

  (c) pSrU; egkizHkq dk   (d) buesa ls dksbZ ugha 
 
  Univesal is a concept of 
  (a) Nyaya-Vaisheshika   (b) Charvak 
  (c) Chaitanya Mahaprabhu  (d) None of these 
 
 15. ÞrdZ'kkL= rdZ djus dh dyk gSß] fdldh ifjHkk"kk gS \ 

  (a) vYMªhp     (b) FkkWelu   

  (c) IysVks    (d) xkSre 
 
  "Logic is an Art of Reasoning". Whose definition is this ?   

  (a) Aldrich    (b) Thomson 
  (c) Plato    (d) Gautam 
 
 16. rdZ'kkL= ds v/;;u dk fo"k; gS  

  (a) vuqeku     (b) mieku   

  (c) vfHkKku@izfrHkk   (d) buesa ls dksbZ ugha 
 
  The subject matter of Logic is    

  (a) Inference    (b) Upman 
  (c) Recognition   (d) None of these 
 
 17. ÞlksfQ;kß dk vFkZ gS  

  (a) izse   (b) ?k`.kk  (c) Kku  (d) buesa ls dksbZ ugha 
 
  The meaning of "Sophia" is   

  (a) Love    (b) Hate 
  (c) Knowledge    (d) None of these 
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 18. Hkkjrh; n'kZu fo'okl djrk gS 

  (a) iqutZUe esa     (b) deZ vkSj iqutZUe esa   

  (c) O;ogkj esa    (d) buesa ls dksbZ ugha 
 
  Indian Philosophy believes in   

  (a) Re-birth    (b) Karma and Re-birth 
  (c) Behaviour    (d) None of these 
 
 19. v}Sr&osnkar ds laLFkkid dkSu gSa \ 

  (a) vkpk;Z 'kadj    (b) egf"kZ dfiy   

  (c) iratfy    (d) d.kkn 
 
  Who is the founder of Advait -Vedanta ?   

  (a) Acharya Shankar   (b) Maharshi Kapil 
  (c) Patanjali    (d) Kanada 
 
 20. vuqHkookn ds tud gSa \ 

  (a) tkWu ykWd  (b) vjLrw  (c) IysVks (d) gsxy 
 
  The propounder of Empiricism is   

  (a) John Locke    (b) Aristotle 
  (c) Plato    (d) Hegel 
 
 21. vuqHkooknh Kku dk L=ksr gS 

  (a) bfUæ; izR;{k    (b) vkIr iq:"k dk opu   

  (c) /kkfeZd xzaFk }kjk of.kZr mik; (d) buesa ls dksbZ ugha 
 
  The source of Empirical Knowledge is   

  (a) Sense Perception   (b) Authoritative Statement 
  (c) Description of religious book (d) None of these 
 
 22. leh{kkokn ds laLFkkid buesa ls dkSu gS \ 

  (a) dk.V  (b) g;we  (c) IysVks (d) buesa ls dksbZ ugha 
 
  Who is the founder of Criticism ? 
  (a) Kant    (b) Hume 
  (c) Plato    (d) None of these 
 
 23. dkj.k vkSj dk;Z ds chp laca/k gksrk gS 

  (a) dsoy iwoZorhZ dk    (b) dsoy vuqorhZ dk   

  (c) iwoZorhZ & vuqorhZ nksuksa dk  (d) buesa ls dksbZ ugha 
 
  The relation between 'Cause' and 'Effect' is   

  (a) Only of antecedent  (b) Only of consequent 
  (c) Antecedent - Consequent  (d) None of these 
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 24. fdlus dgk gS fd Ks; Kkrk ij fuHkZj djrk gS \ 

  (a) izR;;okfn;ksa us    (b) oLrqokfn;ksa us   

  (c) leh{kkokfn;ksa us   (d) buesa ls dksbZ ugha 
 
  Who says, "Object of knowledge depends on perceiver' ? 
  (a) Idealist    (b) Realist 
  (c) Critique    (d) None of these 
 
 25. pkj vk;Z lR; ds laLFkkid dkSu gSa \ 

  (a) xkSre cq)     (b) rhFkkZdj egkohj 

  (c) jRudhrhZ    (d) buesa ls dksbZ ugha 
 
  Who is the founder of 'Four Noble Truths' ? 
  (a) Gautam Buddha   (b) Tirthakar Mahavira 
  (c) Ratna Kirti    (d) None of these 
  
 26. v"Vkafxd ekxZ dh f'k{kk fdlus nh \ 

  (a) cq) us    (b) tSu us  

  (c) xk¡/kh us    (d) buesa ls dksbZ ugha 
 
  Who taught the lesson of Asthangika Marga? 
  (a) Lord Buddha   (b) Jain 
  (c) Gandhiji    (d) None of these 
 
 27. rdZ'kkL= ds v/;;u dk fo"k; gS\ 

  (a) lk{kkr Kku    (b) ijks{k Kku  

  (c) mi;qZDr esa ls dksbZ ugha  (d) v/;kfRed Kku 
 
  Logic deals with? 
  (a) Immediate Knowledfe  (b) Mediate knowledge 
  (c) None of the above   (d) Spiritual knowledge 
 
 28. rdZ'kkL= dk laca/k gS\ 

  (a) ek= vkdkfjd lR; ls  (b) ek= okLrfod lR; ls 

  (c) mi;qZDr nksuksa ls   (d) mi;qZDr fdlh ls ugha 
 
  Logic is conecerned with? 
  (a) Only formal truth   (b) Only material truth 
  (c) Both the above   (d) None of the above 
  
 29. ,d in gS% 

  (a) ,d 'kCn     

  (b) ,d 'kCn tks fdlh rdZokD; dk ek= mnns'; gksrk gS 

  (c) ,d ;k vusd 'kCn tks fdlh rdZokD; ds mnns'; ,oa fo/ks; gksrs gS    

  (d) ,d la;kstd gS 
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  A term is : 
  (a) A Word   

  (b) A word used only as the subject of proposition 
  (c) A word of words used as the subject and predicate of a proposition   

  (d) A word used as a connective. 
 
 30. ^l^ ,oa ^i^ gS % 

  (a) ,d js[kkfJr rdZokD;  (b) oSdfYid rdZokD; 

  (c) ;kSfxd rdZokD;   (d) fujis{k rdZokD; 
 
  'S' and 'P' is a : 
  (a) Hypothetical proposition  (b) Disjunctive proposition 
  (c) compound proposition  (d) Categorical proposition 
 
 31. dksbZ vuqeku U;k; gS ;fn % 

  (a) blesa rhu in gksrs gSa  (b) blesa nks in gksrs gSa 

  (c) blesa pkj in gksrs gSa  (d) blesa ikap in gksrs gSa 
 
  An inference is a syllogism if it has: 
  (a) Three terms   (b) Tow terms 
  (c)  Four terms    (d) Five terms 
 
 32. oS/krk ;k voS/krk dh fo'ks"krk,¡ gSa % 

  (a) rdZokD; ds    (b) ;qfDr;ksa ds 

  (c) mijksDr nksuksa ds   (d) mijksDr esa ls fdlh ls ugha 

  Validity or unvalidity are the characteristics of : 
  (a) Propositions   (b) Arguments 
  (c)  Both the above   (d) None of the above 
 33. ^^iz;ksx esa ge izd``̀fr ls loky iwNrs gSa^^] ;g fdldk dFku gSa % 

  (a) fey      (b) csdu 

  (c) csu     (d) mijksDr esa ls dksbZ ugha 
  'In experiment we interrogate nature'. who said this : 
  (a) Mill     (b) Bacon 
  (c)  Bain    (d) None of the above 
 
 34. izR;sd fLFkfr esa fn, x, fodYiksa esa ls lgh fodYi pqudj viw.kZ okD; dks iw.kZ dhft, % 

  (a) izR;{khdj.k gS    (b) O;oLFkkfir izR;{khdj.k gSa 

  (c) fn'kkghu izR;{khdj.k gS  (d) mi;qZDr esa ls dqN Hkh ugha gS 
  Choose the correct alternative in each case out of the given ones to complete the  
  incomplete sentence in that case : 
  Observation is  
  (a) Perception    (b) Regulated Perception 
  (c)  Randum Perception  (d) None of the above 
 
 35. izkd~~~~dYiuk % 
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  (a) ,d LorU= ekufld mM+ku gS    

  (b) vuqla/kku gS 

  (c) fdlh leL;kRed ?kVuk dh O;k[;k ds fy, rc rd fd;k x;k ,d vVdy gS  

  (d) dksbZ vVdy gS 
  A Hypothesis is : 
  (a) A free flight of mind   
  (b) A discovery 
  (c)  A provisional supposition to explainaorivkabatuc event    
  (d) Any supposition 
 
 36. fey ds vuqlkj dkj.k &dk;Z laca/k LFkkfir djus dh fdruh fof/k;k¡ gSa \    

  (a) nks      (b) rhu 
  (c) pkj     (d) ik¡p 
  How many methods are there according to Mill for establishing causal relation ? 
  (a) Two    (b) Three 
  (c)  Four    (d) Five 
 
 37. n'kZu O;qRiUu gS % 

  (a) Ñ /kkrq ls    (b) æ'k /kkrq ls  

  (c) xe~~~ /kkrq ls     (d) buesa dksbZ ugha 
  The word Philosophy is origenated : 
  (a) From Kr verb   (b) from Drish verb 
  (c) from germ verb   (d) All of above 
 
 38. n'kZu'kkL= dk fo"k; gS % 

  (a) i`Foh    (b) vkdk'k 

  (c) ikrky     (d) Åij ds lHkh 
  The subject matter of Philosophy are  
  (a) Earth    (b) Space 
  (c) Beneath Earth   (d) All of above 
 
 
 39. ;FkkFkZ Kku dgykrk gS % 

  (a) vizek    (b) izek 
  (c) [;kfr     (d) buesa dksbZ ugha 
  Real knowledge is called : 
  (a) Aparama    (b) Prama 
  (c) Khyati    (d) None of these 
 
 40. n'kZu 'kCn dk vaxzsth :ikUrj.k gS % 

  (a) esVkfQftDl    (b) bfiLVseksykWth 

  (c) fQykWlQh     (d) buesa dksbZ ugha 
  The English translation of Philosophy is  
  (a) Metaphysics   (b) Epistemonology  
  (c) Philosophy    (d) None of these 
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 41. Hkkjrh; n'kZu ugha gS % 

  (a) fujk'kkoknh    (b) v/;kReoknh 

  (c) izkÑfrd     (d) buesa dksbZ ugha 
  Indian Philosophy is not : 
  (a) Ressimistic     (b) Spritualistic 
  (c) Naturalistic    (d) None of these 
 
 42. Hkkjrh; n'kZu ds nks lEiznk; gSa % 

  (a) izkÑfrd vkSj vizkÑfrd  (b) HkkSfrdoknh vkSj v/;kReoknh 

  (c) vkfLrd vkSj ukfLrd  (d) buesa dksbZ ugha 
  There are two sects of Indian Philosophy :  
  (a) Natural and a-natural  (b) Materilist and Spiritaulist 
  (c) Orthodox and Hetrodox  (d) None of these 
 
 43. ckS) n'kZu ds izorZd gSa % 

  (a) xkSre cq)    (b) xkSre 
  (c) iratfy     (d) fuEckdZ 
  The propounder of Buddhist Philosophy is : 
  (a) Gautam Buddha   (b) Gautam 

  (c) Patanjali    (d) Nimbark 
 
 44. U;k;n'kZu gS izFke Hkkjrh; % 

  (a) /keZ'kkL=    (b) rdZ'kkL= 

  (c) n'kZu     (d) buesa dksbZ ugha 
  Nyaya Philosophy is the first Indian : 
  (a) Religious text   (b) Logic 
  (c) Philosophy    (d) None of these 
 
 45. lrksxq.k] jtksxq.k vkSj reksxq.k gS % 

  (a) izÑfr ds    (b) iq:"k ds 

  (c) osn ds     (d) buesa dksbZ ugha 
  Sattoguna, Rajoguna and Tamoguna are attributes : 
  (a) of Prakriti    (b) of Purusa 
  (c) of Veda    (d) None of these 
 
 46. vdeZ] fodeZ vkSj deZ dk mYys[k djrh gS % 

  (a) egkHkkjr    (b) jkek;.k 
  (c) xhrk     (d) buesa dksbZ ugha 
  Akarma, Vikarma and Karma is mentioned in : 
  (a) Mahabharata   (b) Ramayana 
  (c) Geeta    (d) None of these 
 
 47. ik'pkR; n'kZu dk vkjaHk gksrk gS % 

  (a) xzhd n'kZu ls   (b) blkbZ n'kZu ls  

  (c) bLyke n'kZu ls    (d) buesa dksbZ ugha 



9 
 

  Western Philosophy begins with : 
  (a) Greek Philosophy   (b) Christian Philosophy 
  (c) Islamic Philosophy   (d) None of these 
 
 48. cqf)okj ds leFkZd gSa % 

  (a) nsdkÙkZ    (b) ykbcuht 

  (c) fLiukstk     (d) Åij ds lHkh 
  The supporter of rationalism is : 
  (a) Descartes    (b) Liebnity 
  (c) Spinoya    (d) All of these 
 
 49. uSfrdrk ds fy, vko';d gS % 

  (a) ekuo Lora=rk   (b) vijk/k euksfoKku 

  (c) HkkX;okj     (d) buesa dksbZ ugha 
  Necessary for marality is : 
  (a) Human Freedom   (b) Criminology 
  (c) Eatalism    (d) None of these 
 
 50. vuqiz;qä uhfr'kkL= dks dgrs gSa % 

  (a) vf/kuhfr'kkL=   (b) ewY; uhfr'kkL= 
  (c) O;kogkfjd uhfr'kkL=  (d) vkn'kZewyd uhfr'kkL= 
  Applied Ethics is called : 
  (a) Metaethics    (b) Kirtue Ethics 
  (c) Practical Ethics   (d) Namanative Ethics 
 
 51. fcUnq lR;kQyh; lEcU/kd gS % 

  (a) la;qDrd dk    (b) fodYid dk 

  (c) lksikf/kd dk    (d) mijksDr esa ls fdlh dk ugha 
  Dot is the truth functional connective of : 
  (a) Conjunction   (b) disjunction 
  (c) Conditional    (d) None of the above 
 
 52. ^dksbZ vkneh bls dj ldrk gS* dk fuEufyf[kr esa dkSu ,d rkfdZd :i gksxk \  

  (a) dqN vkneh ,sls gSa tks bls dj ldrs gSaA     

  (b) lHkh vkneh ,sls gSa tks bls dj ldrs gSaA  

  Which one of the following is the logical form of 'Any man can do it' ? 
  (a) Some men are such who can do it.  
  (b) All men are such who can do it. 
 
 53. dkj.k&dk;Z laca/k crykus okys lHkh fl)kar gSa % 

  (a) uSfrd    (b) oSKkfud 

  All theories related to relationship between cause and effect are : 
  (a) Moral    (b) Scientific 
 
 54. ,Lls&,LV&ijlhih dk fl)kar fdlus fn;k gS \ 

  (a) IysVks    (b) cdZys 
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  Esse-est-percipi has been propounded by : 
  (a) Plato    (b) Berkeley 
 
 55. O;kolkf;d uhfr'kkL= ds varxZr O;olk; ds uSfrd vkn'kZ ,oe uSfrd ------ dk mRFkku gksrk gS % 

  (a) ewY;     (b) 'kqHk 
  Professional Ethics studies the ethical ideal and moral ....... of a profession : 
  (a) Values    (b) Good 
 
 56. fpfdRlk uhfr'kkL= dh izeq[k leL;k,¡ gSa & n;ke``R;q] -------- bR;kfnA 

  (a) Hkwz.kgR;k    (b) vkRegR;k 

  The main problems of medical ethics is Euthanasia ........ etc. 
  (a) Abortion    (b) Suicide 
 
 57. fuxeu dh ifjHkk"kk dh tk ldrh gS % 

  (a) lkekU; ds vk/kkj ij fo'ks"k dk vuqeku    

  (b) fo'ks"k ds vk/kkj ij lkekU; dk vuqeku 

  (c) mi;qZä nksuksa     

  (d) mi;qZä nksuksa esa ls dksbZ ugha 
  Deduction can be defined as : 
  (a) Inference of particular from general   
  (b) Inference of general from particular 
  (c) Both the above    
  (d) None of the above 
 
 58. fdlh in dh oLrqokpdrk % 

  (a) mldk foLrkj gS   (b) mldk xq.k gS 

  (c) mi;qZä nksuksa gSa    (d) mijksDr esa ls fdlh dk ugha 
  The denotation of a terms is : 
  (a) Its extension   (b) Its quality 
  (c) Both the above   (d) None of the above 
 
 59. foifjr in os gSa ftuesa % 

  (a) ;fn ,d lR; gS rks nwljk lR; gS     

  (b) ;fn ,d lR; gS rks nwljk vlR; gS 

  (c) ;fn ,d vlR; gS rks nwljk lR; gS     

  (d) ;fn ,d vlR; gS rks nwljk vlR; gS 
  Contrary terms are such that : 
  (a) If one is true, the other is true    

  (b) If one is true, the other is false 
  (c) If one is false, the other is true     
  (d) If one is false, the other is false 
 
 60. ^FkksM+s gh O;fä [krjukd ugha gS* % 

  (a) ,d iw.kZO;kih rdZokD; gS   (b) ,d fu"ks/kkRed rdZokD; gS  

  (c) ,d js[kkfJr rdZokD; gS   (d) ,d HkkokRed rdZokD; gS 
  'Eew men are not dangerous' is : 
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  (a) An Universal proposition  (b) A negative proposition 
  (c) A conditional proposition   (d) An Affirmative proposition 
 
 61. fuEufyf[kr esa ls dkSu rdZ'kkL= dk ,d Lo:i gS % 

  (a) rdZ'kkL= ek= ,d dyk gS   (b) rdZ'kkL= ek= ,d foKku gS 

  (c) rdZ'kkL= dyk rFkk foKku nksuksa gS  (d) rdZ'kkL= mijksä esa ls dksbZ ugha gS 
  Which one of the following is the nature of logic ? 
  (a) Logic is merely an art  (b) Logic is merely a science 
  (c) Logic is arts and science   (d) Logic is none of the above 
 
  
 62. ljy izdFku og gS ftldh fuekZ;d vax % 

  (a) ljy 'kCnksa dk ;ksx gks  (b) ftldk vFkZ ljy gks 

  (c) ,d izdFku gks    (d) ,d ls vf/kd izdFku gks 
   Simple statement is that whose : 
  (a) Constituent element is the compound of simple words    

  (b) Meaning is simple 
  (c) Constituent element is one statement    
  (d) Constituent element is more than one statement 
 
 63. fuEufyf[kr lewg esa ls dkSu dFku lR; gS \  

  (a) fujh{k.k rFkk iz;ksx esa izdkj Hksn gSA     

  (b) fujh{k.k rFkk iz;ksx esa ek=k&Hksn gSA 
  (c) fujh{k.k rFkk iz;ksx esa dksbZ Hksn ugha gSA  

  (d) fujh{k.k rFkk iz;ksx ,d&nwljs ds fojks/kh gSaA 
  Which statement is true ? 
  (a) Observation and Experiment differ in kind 
  (b) Observation and Experiment differ in degree 
  (c) Observation and Experiment do not differ at all  
  (d) Observation and Experiment are opposed to each other 
 
 64. dksbZ izkd~~dYiuk lR;kfir gksrh gS % 

  (a) flQZ izR;{k :i esa   (b) flQZ vizR;{k :i esa 

  (c) izR;{k rFkk vizR;{k nksuksa :iksa esa  (d) u rks izR;{k :i esa vkSj u vizR;{k :i esa 
  A hypothesis is verified : 
  (a) Only directly   (b) Only indirectly 
  (c) Both directly and indirectly (d) Neither directly nor indirectly 
 
 65. fey ds vuqlkj dkj.k&dk;Z laca/k LFkkfir djus dh fdruh fof/k;k¡ gSa \ 

  (a) nks   (b) rhu  (c) pkj  (d) ik¡p 
  How many methods are there according to Mill for establishing casual relation ? 
  (a) Two  (b) Three (c) Four (d) Five 
 
 66. ^n~~';rs* vusu bfr n'kZue~~~ -------- dh ifjHkk"kk gS 

  (a) vFkZ'kkL=    (b) rdZ'kkL= 

  (c) n'kZu'kkL=     (d) buesa dksbZ ugha 
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  'Drishyate Anen Eti Darshanam' is the definition of  : 
  (a) Economics    (b) Logic 
  (c) Philosophy    (d) None of these 
 
 67. _r fu;e gS % 

  (a) uSfrd  (b) /kkfeZd (c) jktuSfrd  (d) buesa dksbZ ugha 
  Rta is a law : 
  (a) Moral  (b) Religious (c) Political  (d) None of these 
 
 68. iq:"kkFkZ lk/ku vkSj ----------- dk laca/k gSA 

  (a) lk/; (b) cktkj (c) thou  (d) buesa ls dksbZ ugha 
  Purushartha is the relation of means and .............. 
  (a) ends  (b) market (c) life  (d) None of these 
 
 
 69. tSu n'kZu ds vuqlkj izFke rhFkZdj gS % 

  (a) egkohj    (b) _"kHknso 

  (c) vtqZunso     (d) ik'oZukFk 
  The first Tirthakar according to Jainism is : 
  (a) Mahavir    (b) Rishabhdeva 
  (c) Arjundeva    (d) Parshvanath 
 
 70. deZ gS % 

  (a) izkjC/k    (b) lafpr 

  (c) fØ;ek.k     (d) Åij ds lHkh 
  Karma is : 
  (a) Prarabdh     (b) Sanchita 
  (c) Kriyaman    (d) All of above 
 
 71. Kku izkIr djus okys dks dgrs gSa % 

  (a) izekrk    (b) izek 
  (c) izek.k    (d) vizek 
  The who gains knolwedge is called : 
  (a) Knower     (b) Real knowledge  
  (c) Source of knowledge  (d) False knowledge 
 
 72. U;k; ds vuqlkj izek.k pkj gSa&izR;{k] vuqeku] mieku vkSj ---------- 

  (a) vuqiyfC/k    (b) vFkkZifÙk 

  (c) 'kCn     (d) buesa dksbZ ugha 
  According to Nyaya sources of knowledge are four perceptions, Inference, comparison  
  and....... 
  (a) Non-cognition    (b) Implication 
  (c) Testimony    (d) None of these 
 
 73. vuqeku dk rkfdZd vk/kkj gS % 

  (a) O;kfIr    (b) i{k/keZrk 
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  (c) i{k     (d) gsrq 
  The logical fouondations of inference is : 
  (a) Vyapti     (b) Pakshadharmta 
  (c) Paksha    (d) Hetu 
  
 74. v}Sr dk vFkZ gksrk gS % 

  (a) ,d ugha    (b) nks ugha 
  (c) rhu ugha    (d) buesa dksbZ ugha 
  The meaning of Advaita is : 
  (a) Not one     (b) Not two 
  (c) Not three    (d) None of these 
  
 75. dkSu vuqHkooknh ugha gS % 

  (a) dk.V    (b) cdZys 

  (c) g;qe     (d) ykWd 
  Who is not empricist 
  (a) Kant    (b) Berkeley 
  (c) Hume    (d) Locke 
 
 76. ik'pkR; n'kZu gS % 

  (a) izkphu    (b) vk/kqfud 

  (c) e/;dkyhu    (d) mi;qZä lHkh 
  Western Philosophy is : 
  (a) Ancient     (b) Modern 
  (c) Medienal    (d) All of these 
 
 77. HkkSfrdokn ds vuqlkj ijelÙkk gS % 

  (a) izR;;    (b) vuqHk; 

  (c) tM+     (d) czã 
  According to materialism ulatimate Reality is : 
  (a) Idea     (b) Neutral 
  (c) Matter    (d) Absolute 
 
 78. bZ'oj ds vfLrRo laca/kh izek.k gSa % 

  (a) lÙkkewyd ;qfä   (b) fo'oehekslh; ;qfä 

  (c) iz;kstukRed ;qfä   (d) Åij ds lHkh 

  The arguments related to existence of God are : 
  (a) Ontological artument   (b) Cosnological argument 
  (c) Teleological argument  (d) All of above 
 
 79. i;kZoj.k ds rhu izdkj gSa % HkkSfrd] ekufld vkSj-------------- 

  (a) vk/;kfRed    (b) lkaLÑfrd 

  (c) jktuSfrd    (d) mi;qZä esa ls dksbZ ugha 
  There are three kinds of environment - Physical, Mental and .......... 
  (a) Spiritual    (b) Cultural 
  (c) Political    (d) None of these 
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 80. f'k{kk ekuo thou dks ----------- fnykrh gSA 

  (a) ca/ku     (b) eks{k 
  (c) Hkfä     (d) buesa dksbZ ugha 
  Education gives ........... to human life 
  (a) Bondage     (b) Liberation 
  (c) Devotion    (d) None of these 
 
 81. O;kikj uhfr'kkL= O;kikj laca/kh ---------- dk v/;;u djrk gS 

  (a) vkn'kZ    (b) ewY; 
  (c) uSfrdrk    (d) buesa dksbZ ugha 
  Business Ethics deals with ............ related to business. 
  (a) Ideal  (b) Values (c) Morality  (d) None of these 
 82. ;fn izFke vkdkj esa o`gr okD; 1 rdZokD; gks rks mlesa nks"k gksxk % 

  (a) vO;kIr ek/;e in dk ;k vuqfpr o`̀gr in dk     

  (b) vuqfpr y?kqin ;k vO;kIr ek/;e in dk 

  If the major premise in the first figure is an I proposition the fallacy is : 
  (a) Undistributed middle as illicit major 
  (b) Illicit minor or undistributed Middle 
 
 83- fuEufyf[kr esa ls dkSu&,d dFku lR; gS \ 

  (a) ;g dHkh laHko ugha gS fd ;qfä oS/k gS vkSj vk/kkj okD; lR; gksa rks fu"d"kZ vlR; gksxk 

  (b) ;g dHkh laHko ugha gS fd ;qfä voS/k gS vkSj vk/kkj okD; vlR; gS rks fu"d"kZ lR; gksxkA 

  Which one of the following is correct ? 
  (a) It cannot be that the argument is invalid and premises true but the conclusion false 
  (b) It cannot be that the argument is invalid and the premises false but the conslusion is  
        true 
 
 84. fu"dke deZ dk i;kZ; gS % 

  (a) izse izse ds fy,  

  (b) drZO; drZO; ds fy, 

  Niskama Karma is equal to : 
  (a) Love for love's sake 
  (b) Duty for duty's sake 
 
 85. vuqiz;qä uhfr'kkL= dks dgrs gSa % 

  (a) ewY; uhfr'kkL=   (b) O;kogkfjd uhfr'kkL= 

  Applied Ethics is called : 
  (a) Virtue Ethics   (b) Pracital Ethics 
 
 86. f'k{kk n'kZu 'kk[kk gS % 

  (a) euksfoKku dh   (b) HkkSfrd foKku dh 

  (c) n'kZu'kk= dh   (d) buesa dksbZ ugha 

  Philosophy of Education is the Branch of : 
  (a) Psychology    (b) Physics 
  (c) Philosophy    (d) None of these 
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II.  vfr y?kq mÙkjh; iz'u@Short Answer Type Questions 
  

 1- rdZ'kkL= dh ;qfDr;ksa dk mYys[k djsaA 

  Illustrate the arguments of "Logic". 
  
 2. ;qfDr ds fdlh ,d fo'ks"krk dk mYys[k djsaA 

  Describe any one significance of 'Argument'. 
 
 3- oSKkfud i)fr dk vk/kkj D;k gS \ 

  What is the basis of Scientific Method ? 
 
 4- fdl pht dks ns[kdj ioZr ij vkx gksus dk vuqeku djrs gSa \ 

  How we know that there is fire on hill ? 
 
 5- O;kfIr ds fcuk vuqeku D;ksa laHko ugha gS \ 

  Why without vyapti inference is not possible ? 
 
III.  y?kq mÙkjh; iz'u@Short Answer Type Questions 
  

 1- oSKkfud i)fr dk vo/kkj.kk Li"V dhft,A 

  Clarify the concept of Scientific Method. 
 
 2. D;k fujh{k.k ,d p;ukRed fØ;k gS \ 

  Is Observation a selective Act ? 
 
 3. iz;ksx ds fy, vko';d ckrksa dk mYys[k dhft,A 

  Illustrate the essential facts of Experiment. 
 
 4. fof/k laca/kh dYiuk dh foospuk dhft,A 
  Descuss Hypothesis Abstract Method. 
 
 5. ^ioZr ij vkx gS^ bls iapko;o U;k; }kjk fl) dhft,A 
  "There is fire on Hill", Prove this statement on the basis of Pancha-Avyava Nyaya. 
 
 6. bl okD; dk rkfdZd :ikarj.k dhft,& dfri; euq"; gh bekunkj gSaA 
  Transform the sentence in its logical form - Often Men are Honest. 
 
 7. lk{kkr vuqeku }kjk fuEufyf[kr okD; dk vuqeku izkIr dhft,&lHkh euq"; ej.k'khy   

  gSA 
  Make inference by immediate inference out of the proposition given below - All   
  Men are Mortal. 
 
 8. ifjorZu ds fu;eksa dh O;k[;k dhft,A 
  Explain the rule of conversion. 
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 9. izfrlfIr ds fdrus izdkj gSa mnkgj.k nsdj Li"V dhft,\ 
  How may kinds of propositions are there? Clarify with example? 
 
 10. fl) dhft, fd la;ksftr izfrlfIr rHkh lR; gksrh gS] tc blds nksuksa ?kVd lR;   

  gksrk gSA 
   Prove that conjunctive proposition in true only when its both conjuncts are true. 
 
 11- rdZ'kkL= D;k gS \ 

  What is Logic ? 
  
 12- æO;okpd rFkk Hkkookpd inksa esa Hksn crykb,A  

  Distinguish between Concrete and Abstract terms. 
 
 13- rkfdZd okD; vkSj O;kdj.k ds okD;ksa esa lksnkgj.k vUrj crykb,A 

  Distinguish between a proposition and a grammatical sentence giving examples of each. 
 
 14- dksbZ in fu"d"kZ esa O;kIr ugha jguk pkfg, tks vk/kkj&okD; esa O;kIr ugha gSA 

  No term should be distributed in the conclusion which is not distribute in the premise. 
 
 15- lR;rk&Qfyr rFkk u&lR;rk&Qfyr izfrKfIr;ksa ¼dFkuksa½ esa Hksn dhft,A 

  Distinguish between a truth-functional and a non-truth functional proposition. 
 
 16- Hkkjrh; n'kZu ds lEiznk; fdrus gSa \ 

  How many sects are thereof Indian Philosophy ? 
 
 17- 'khy ij fVIi.kh fy[ksaA 

  Write a note on Sheela. 
 
 18- izR;{k dh ifjHkk"kk nsaA 

  Define Perception. 
 
 19- izR;;okn fdls dgrs gSa \ 

  What is Idealism ? 
 
 20- O;kolkf;d uhfr'kkL= dh ifjHkk"kk nsaA 

  What is Logic ? 
 
 21- vkdkfjd vkSj okLrfod lR; esa Hksn dhft,A D;k rdZ'kkL= nksuksa ls lac) gS \ 

  Distinguish between formal and material truth. To logic concerned with both ? 
 
 22- fuEufyf[kr inksa ds rkfdZd y{k.k crykb, & 

  (a) euq";  (b) fgeky; 

  Describe the logical characteristics of the following terms - 
  (a) Man  (b) Himalayas 
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 23. fuEufyf[kr dks rkfdZd :i esa ifjofrZr dj muds xq.k vkSj ifjek.k dk ladsr djsaA 

  (a) dsoy f'kf{kr gh ernku ds ;ksX; gSaA 

  (b) FkksM+s gh euq"; bZekunkj gSaA 
  Transform the following to logical form and point out their quality and quantity. 
  (a) Only the educated are fit to vote. 
  (b) Each man are honest. 
 
 24. U;k; dks ifjHkkf"kr dhft, rFkk mldh fo'ks"krk,¡ crykb,A 

  Define a syllogesin and state its characteristics. 
 
 25. fdlh izkd~dYiuk dks dSls laiq"V fd;k tkrk gS \ 

  Now is a hypothesis confirmed. 
 
 26. vkfLrd vkSj ukfLrd esa Hksn djsaA 

  Distinguish between Orthodox and Hetrodox. 
 
 27. inkFkZ fdls dgrs gSa \ 

  What is Padartha ? 
 
 28. 'kadj dks izPNUu ckS) fdls dgrs gSa \  

  Why is Sankara called disguised Buddha ? 
 
 29. izR;;okn fdls dgrs gSa \ 

  What is Indealism ? 
 
 30. f'k{kk n'kZu dh ifjHkk"kk nsaA 

  Define Philosophy of Educatoin. 
   
IV.  nh?kZ mÙkjh; iz'u@Long Answer Type Questions 
 
 1. fuEufyf[kr esa rdnks"k crykb, %& 
   Find out fallacies of the following:- 
      (i) cQZ ikuh gS/Ice is Water. 
  ikuh rjy gS/Water is liquid. 
  blfy, cQZ rjy gS/Ice is liquid. 
       (ii) dsoy jk"Vªifr izfl) gS/Only Presidents are famous. 
  jfoUnzukFk VSxksj jk"Vªifr ugha Fks/Rabindranath Tagore wan not President. 
  vr% og izfl) ugha Fksa/Hence, he is not famous. 
 
 2. gsRokHkkl dh O;k[;k dhft,A 

  Explain Hetvabhas. 
 
 3. vuqHkookn dh foospuk Kku ehekalk ds :i esa dhft,A 

  Discuss Empiricism as a Theory of Knowledge. 
 
 4. oSKkfud vkxe dh fo'ks"krkvksa dk o.kZu dhft,A 
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  Describe Scientific Induction. 
 
 5. bl fu;e dh O;k[;k dhft, fd ^^ ;fn nksuksa vk/kkj okD; va'kO;kfir gks rks dksbZ os/k   

  fu"d"kZ ugha gksxk A 

  Explain the rules that if both the premises are particular, no valid conclusion can   
  be drawn. 
 
 6. in dh oLrqokpdrk rFkk xq.kokpdrk ls vki D;k le>rs gSaA 

  What do you understand by the denotation and commodation of a term ? How are they  
  related together ? 
 
 7. fey dh vUo; fof/k dh O;k[;k rFkk ijh{kk dhft,A fey D;ksa bl fof/k dks flQZ vuqla/kku dh 

  fof/k ds :i esa ysrsa gSa] izek.k dh fof/k ds :i esa ugha A 

   

 8. U;k; D;k gS \ mnkgj.k dh lgk;rk ls bldh cukoV dh O;k[;k dhft,A 

  What is a syllogism ? Explain its structure with the help of example. 
 
 9. Hkkjrh; n'kZu ds Lo:i dh O;k[;k djsaA 

  Explain the nature of Indian Philosophy. 
 
 10. 'kadj ds vuqlkj czã ds Lo:i dh foopsuk djsaA  

  Discuss the nature of Absolute according to Sankara. 
 
 11. ifjos'kh; uhfr'kkL= dh ifjHkk"kk nsaA blds fo"k;oLrq dk mYys[k djsaA 

  Define Environmental Ethics. Explain its subject matter. 
 
 12. izÑfr foKku dh i)fr rFkk lekt foKku dh i)fr esa D;k Hksn gS \ ;fn dksbZ Hksn gS rks  

  O;k[;k rFkk foospuk dhft,A 

  What if any, is the difference between the method of natural science and that of social  
  science ? Explain and discuss. 
 
 13. fey dh vUo; O;frjsd fof/k dh O;k[;k dhft,A D;k ;g lpeqp vUo; rFkk O;frjsd fof/k;ksa  

  dk la;qä :i gS \ 

  Explain Mill's joint method of agreement and difference. Is it really a confination of the  
  methods of agreement and difference ? 
 
 14. v"Vkafxd ekxZ dh O;k[;k djsaA  

  Explain eighthold path. 
 
 15. lka[; n'kZu ds f=xq.k fl)kar dh foospuk djsaA 

  Discuss the theory of three gunas of Samkhya Philosophy. 
 
 16. oLrqokn dh O;k[;k djsaA 

  Explain realism. 
 17. f'k{kk n'kZu ij fVIi.kh fy[ksaA 

  Write note on Philosophy of Education.  
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